
1. 4593      8=
2. 1291      6=
4. 7401      4=
5. 8900      6=
6. 3901      5=
7. 2210      9=
8. 3230      9=
9. 8288      3=
10. 8302     5=

L.O) I can use bus stop division

Division without exchange Division with exchange Division with remainders (4 digit)

1. 429      3=
2. 560      4=
4. 764      4=
5. 288      3=
6. 670      5=
7. 920      4=
8. 504      4=
9. 558      6=
10. 708     6=

1. 369      3=
2. 220      2=
4. 603      3=
5. 282      2=
6. 550      5=
7. 963      3=
8. 555      5=
9. 399      3=
10. 268     2=


